100 101 102
106,03 106,14 106,09
(sztirke)
"""" .%IV_ILJQ___.-________
homok (sziirke, homoklisztes)
homok (sziirke)
(6,0) (6,0) (6,0)
(1966.) (1966.) (1966.)
(FTV Tsz.:66/2031) (FTV Tsz.:66/2031) (FTV Tsz.:66/2031)
(1F) (2F) (3F)
104 105 106
105,80 106,03 105,83

homok (sziirke, iszapos)
(6,0) (6,0)
(1966.) (1966.)
(FTV Tsz.:66/2031) (FTV Tsz.:66/2031)
(5F) (6F)
110 111

48,70 Rel.

48,94 Rel.

(4,1)
(1972. 05 ho)
(FTV Tsz.:72/102)

(3,5)
(1972. 05 hé)
(FTV Tsz.:72/102)
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(7,0)
(1977. 10. 11.)
(FTV Tsz.:77/7204)
(1F)

108

105,63

(10,5)
(1977.10.13.)
(FTV Tsz.:77/7204)
(F)

103

106,18

(6,0)
(1966.)
(FTV Tsz.:66/2031)
(4F)

107

105,43

(sziirke, iszapos .

(sziirke, hl.-es)

(11,0)
(1977.10. 12.)
(FTV Tsz.:77/7204)
(2F)

109

105,93

(11,0)
(1977. 10. 14.)
(FTV Tsz.:77/7204)
(4F)



